(a)

Math 53 Quiz 6
March 15, 2017

This quiz will be graded out of 10 points, with individual questions weighted as (indicated). No
calculators, please! Please read the instructions carefully, and explain your work.

Problem 1. (3 points) Find the directional derivative of the function f(z,y,2) = zy + yz + zx at
the point P = (1,—1,3) in the direction of the vector v = (2, 3, 6).

Tb FMA H\e J\‘rcdl‘or\a.l AerfUaJ't'Ve, we Comfuk Hu
3@0‘(&\" vech e [7F a*’ P/ GMI H:u unit VCC\(or [~ H\l

-

eliv"Cch'am 0( V.
Pf= Cyre, xvr, y+x> — PFU,-13)=2,4,0>
Gz Vvl = €2382/2 - L37,3h, 4D
Then H\L Olt'rt:c,‘i'ohl Aeri‘va{‘i've (S 3:'v¢4\ 6~a_
Dg § = VFO-3) -0 =< 2,4,02 4,33, 42D
= N/? .

Problem 2. (3 points) Find and classify the local maximum and minimum points and the saddle
points of f(z,y) = ysinz.
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Problem 3. (4 points) The plaue y + z = 3 intersects the cylinder #2 + y? = 5 in an ellipse. Find
a parametric formula representing the tangent line to the ellipse at the point (1,2,1).
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